N & o & AF & H A A
20198 & S0 SHSH-AESFA2ACSESAH A
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[ia 3,190,000
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[ia 3,109,800
A4RBSTY MR (SHEMLBBETABRSES 3,262,680 3,248,982 13,698
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i 3,109,800
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O=s3% AHAHS E X d2AH|
150,000& »2H 50 15,000
201 L2 | 99,026 77,100 21,926
01 At 22l 41,200 25,800 15,400
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OHXIe dsHE WA 2,000,000& » 14! 2,000
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O=dSsa3A X0 212A4H| 218,400
< 152,880
= 65,520
0dl B1 81 2,407,007 587,804 1,819,203
801 0l bl bl 2,407,007 587,804 1,819,203
01 etal bl bl 2,407,007 587,804 1,819,203
Oulyl gl 2,407,007,000& 2,407,007
A QAAD HEY =5 11,120 11,120 0
201 LEt2 9| 11,120 11,120 0
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